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Logic Puzzles
逻辑推理题
Bulbs
灯泡
Keep the first bulb switched on for a few minutes. It gets warm, right? So all you have to do then is ... switch it off, switch another one on, walk into the room with bulbs, touch them and tell which one was switched on as the first one (the warm one) and the others can be easily identified ...
把第一盏灯泡开亮几分钟。它会慢慢变热，对吧？然后你只需要。。。把它关掉，开亮另一盏，走进房间，摸摸哪一盏灯是暖的（就是之前先开的那盏），其他的就可以很容易地区分开了。。。

A Ping-Pong Ball in a Hole
在洞里的乒乓球
All you have to do is pour some water into the pipe so that the ball swims up on the surface.
你只需要往管里灌点水，乒乓球就会浮上来了。

A Man in an Elevator
电梯里的男人
The man is of short stature. He can't reach the upper elevator buttons, but he can ask people to push them for him. He can also push them with his umbrella.
这个男人是个侏儒。他够不到电梯上层的按钮，但是他可以叫其它人帮他按。他也可以用他的雨伞按。

The Ball
球
Throw the ball straight up in the air.
把球向上抛。

The Magnet
磁铁
You can hang the iron rods on a string and watch which one turns to the north (or hang just one rod).
你可以把铁棒用一根绳子吊起来看看哪一根指向北面（或者只挂一根铁棒）。
Gardner gives one more solution: take one rod and touch with its end the middle of the second rod. If they get closer, then you have a magnet in your hand.
The real magnet will have a magnetic field at its poles, but not at its center. So as previously mentioned, if you take the iron bar and touch its tip to the magnet's center, the iron bar will not be attracted. This is assuming that the magnet's poles are at its ends. If the poles run through the length of the magnet, then it would be much harder to use this method. 
嘉德讷给出另外一个方法：拿起一根铁棒用它的一头去触碰另一根铁棒的中间。如果它们互相吸引，那么拿在你手上的就是磁铁。
一块真的磁铁的磁场会在它的两级，而不在它的中间。所以就像刚才所说的，如果你拿着的是一根铁条，去触碰磁铁的中心，那么铁条是不会被吸引的。这就是假定磁铁的两级在它的两头。如果它的两级在整条磁铁上，那么这种方法就比较难了。
In that case, rotate one rod around its axis while holding an end of the other to its middle. If the rotating rod is the magnet, the force will fluctuate as the rod rotates. If the rotating rod is not magnetic, the force is constant (provided you can keep their positions steady).
如果是这样，那你可以抓住一根铁棒，用它的一头去靠近另一根绕着它的轴线旋转着的铁棒的中心。如果旋转着的铁棒是磁铁，那么磁力会随着它的旋转而变化。如果旋转着的那根不是磁铁，那么磁力的大小会保持不变（前提是你可以保持它们的位置不要移动）。

The Castle
城堡
You can put one foot-bridge over one corner (thus a triangle is created). Then from the middle of this foot-bridge lay another foot-bridge to the edge (corner) of the castle. You can make a few easy equations confirming that this is enough.
你可以把一条脚桥架在正方形的一个角那里（这样做出一个三角形）。然后从这个脚桥的中间搭另一条脚桥到对岸。你可以用几条简单的等式去证明这样长度是足够的。
[image: Attached Image]

[image: Attached Image]

Biology
生物学
The saucer was half full at 11.59 - the next minute there will be twice as many of them there (so full at 12.00).
容器在11点59分时是一半满的 – 下一分钟就是现在的两倍（所以在12时是满的）。

Sheikh's Heritage
酋长的遗产
The wise man told them to switch camels.
那位智者叫他们交换骆驼。

Philosopher's Clock
哲学家的钟
Clocks can measure time even when they do not show the right time. You just have to wind the clock up and...
We have to suppose that the journey to the friend and back lasts exactly the same time and the friend has a clock (showing the correct time) - it would be too easy if mentioned in the riddle.
Now there is no problem to figure out the solution, is there?
就算不能显示正确的时间，钟还是可以计算时间的。只要上好发条和。。。
我们必须假定去和回的路程用的时间是一样的，还有他的朋友的钟显示正确的时间-如果这些都在题目里说了就太容易了。
现在当然就不难找出答案了，对吧。

Masters of Logic Puzzles (dots)
逻辑推理高手（点）
All three of us (A, B, and C (me)) see everyone's hand up, which means that everyone can see at least one red dot on someone's head. If C has a blue dot on his head then both A and B see three hands up, one red dot (the only way they can raise their hands), and one blue dot (on C's, my, head). Therefore, A and B would both think this way: if the other guys' hands are up, and I see one blue dot and one red dot, then the guy with the red dot must raise his hand because he sees a red dot somewhere, and that can only mean that he sees it on my head, which would mean that I have a red dot on my head. But neither A nor B say anything, which means that they cannot be so sure, as they would be if they saw a blue dot on my head. If they do not see a blue dot on my head, then they see a red dot. So I have a red dot on my forehead.
假定C是我自己，那么A，B，和我自己都看见了大家的手都举起来了，这说明了每个人都看到了至少一个红点在别人的额头上。如果我（C）头上是蓝点，那么A和B都看到三个人的手举起来，一个红点（他们举起手的原因）和一个蓝点（在我额头上）。那么A和B都会这样想：大家都举了手，而我看见了一个红点和一个蓝点，那额头是红点的人也举了手，证明他在某处看到了红点，那就只能是在我的额头上。
但是A和B都没有说话，这就说明他们都不是很肯定。那如果我的额头上是蓝点，他们就会肯定了。所以我额上的是红点。

Masters of Logic Puzzles II. (hats)
逻辑推理高手（帽子）
The important thing in this riddle is that all masters had equal chances to win. If one of them had been given a black hat and the other white hats, the one with black hat would immediately have known his color (unlike the others). So 1 black and 2 white hats is not a fair distribution.
这条题里重要的一点是所有人都有均等的机会赢。如果其中一个戴的是黑帽，其他两个是白帽，那戴黒帽的人会马上知道他自己的帽子是什么颜色（不同于其它）。所以一黑二白是不公平的分配。
If there had been one white and two black hats distributed, then the two with black hats would have had advantage. They would have been able to see one black and one white hat and supposing they had been given white hat, then the one with black hat must at once react as in the previous situation. However, if he had remained silent, then the guys with black hats would have known that they wear black hats, whereas the one with white hat would have been forced to eternal thinking with no clear answer. So neither this is a fair situation.
如果是一白二黑地分配，那么戴黑帽的两个人就有优势了。他们可以看到一黑一白的帽子。如果他们假设自己戴的是白帽，那么戴黒帽的人就能马上说出自己帽子的颜色（如上一段描述）。然而，如果戴黒帽的人不出声，（那就证明他不肯定，那么我头上的就不是白帽，是黑帽）那么两个戴黒帽的人就都能说出自己戴的帽子是黑色。但是戴白帽的人就没有一个肯定的答案。所以这也不是一个公平的分配。
That’s why the only way of giving each master an equal chance is to distribute hats of one color – so 3 black hats.
I hope this is clear enough.
这就是为什么只有一种分配的方法是公平的-同一种颜色的帽子，所以是黑色。
我希望我说的够清楚了。
Masters of Logic Puzzles III. (stamps)
逻辑推理高手III （印花）
B says: "Suppose I have red-red. A would have said on her second turn: 'I see that B has red-red. If I also have red-red, then all four reds would be used, and C would have realized that she had green-green. But C didn't, so I don't have red-red. Suppose I have green-green. In that case, C would have realized that if she had red-red, I would have seen four reds and I would have answered that I had green-green on my first turn. On the other hand, if she also has green-green [we assume that A can see C; this line is only for completeness], then B would have seen four greens and she would have answered that she had two reds. So C would have realized that, if I have green-green and B has red-red, and if neither of us answered on our first turn, then she must have green-red. 
"'But she didn't. So I can't have green-green either, and if I can't have green-green or red-red, then I must have green-red.' 
B说：“假设我有红-红。A就会在第二轮说出来：”我看见B有红-红。。如果我也是红-红，那么四张红色都用了，那C就应该知道她的是绿-绿。但是C没有，所以我没有红-红。假设我有绿-绿。这样的话，C就知道如果她有红-红，我就可以看到四个红那么我就应该在第一轮就说出我有绿-绿 。相反，如果她有绿-绿（我们假定A可以看到C），那么B就已经看到四个绿，所以她就可以答出她有两个红。所以C知道，如果我有绿-绿和B有红-红，那如果我们两都在第一轮没有出声，那么她一定是绿-红。
So B continues: 
"But she (A) didn't say that she had green-red, so the supposition that I have red-red must be wrong. And as my logic applies to green-green as well, then I must have green-red." 
So B had green-red, and we don't know the distribution of the others certainly. 
(Actually, it is possible to take the last step first, and deduce that the person who answered YES must have a solution which would work if the greens and reds were switched -- red-green.)
B接着说：
“但是她（Ａ）并没有说她的是绿－红，所以我假设我有红－红肯定是错的。那么同样的推理用在假设她有绿－绿，那么我的肯定是绿－红。”
所以Ｂ有绿－红，但是我们不能肯定知道其他人的分配如何。
（事实上，我们可以从最后一步先考虑，推出回答“知道”的那个人肯定有一个如果绿色和红色调转时行得通的答案。）

Head Bands
头巾
The first one (he did not see any head bands) thought this way:
The last one is silent, which means, he does not know, ergo at least one of head bands he sees is white. The one in the middle is silent too even though he knows what I already mentioned. If I had a red head band, the second one would have known that he had a white head band. However, nobody says anything, so my head band is not red – my head band is white.
第一个人（他看不到任何的头巾）是这样想的：
最后一个人不出声，说明了他不知道，因此他看到的最少有一条头巾是白色的。中间的人也不出声（他也知道最后一个人看到的是什么）。如果我的头巾是红色的，那么中间的那个人就知道他的是白的。然而，没有人说话，那么我的头巾一定不是红的－我的头巾是白色的。

Christmas Tree
圣诞树
There are 2 possible solutions:
1. if angels B and C had aureole of the same color, then angel A must have immediately said his own color (other then theirs),
2. if angels B and C had different colors, then angel A must have been silent and that would have been a signal for angel B, who could know (looking at angel C) what his own color is (the other one then C had).
有两个可能的答案：
１　如果天使Ｂ和天使Ｃ有同样颜色的光环，那么天使Ａ肯定马上说出他自己的颜色（不同于其他的颜色），
２　如果天使Ｂ和天使Ｃ有不同颜色的光环，那么天使Ａ就不肯定和沉默，那么这是给天使Ｂ的一个信号，那么Ｂ（能看到天使Ｃ）就知道他自己的颜色（不同于天使Ｃ）。
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Math Brain Teasers
数学脑筋急转弯
Brick
砖头
There is an easy equation which can help:
1 brick = 1 kg + 1/2 brick
And so 1 brick is 2 kg heavy.
列一个很简单的等式就可以帮助你解决：
1块砖头=1公斤+1/2块砖头
所以一块砖头就是2公斤重。

Trains
火车
Of course, when the trains encounter, they will be approximately the same distance away from New York. The New York train will be closer to New York by approximately one train length because they're coming from different directions. That is, unless you take "meet" to mean "perfectly overlap".
当然啦，当火车相遇时，他们离纽约的距离是几乎相同的。从纽约出发的火车会离纽约近大约一辆火车的距离因为他们来自相反的方向。那是除非你把“相遇”理解为“完全重叠”。

Fly
苍蝇
There is a complicated way counting a sequence. Or simply knowing that if the fly is flying the 2 hours still at the same speed of 75 km/h then it flies a distance of 150 km.
有一个复杂的方法算出结果。或者简单的这样计算：如果苍蝇以每小时75公里的速度飞了两个小时，那么总共飞行了150公里。

Speeding up
加速
This one has no solution. Unless we are complicating it with relativity theory - time and space. But to keep it simple, you can't reach the desired average speed under the given circumstances.
However, there is another option for the original wording - a detour. Think about that.
这题是没有答案的。除非我们把相对论复杂化 – 时间和空间。但是简单的说，在设定的条件下你是不可能达到理想的平均速度的。
然而，有另一个选择 – 绕道（走迂回路）。想想这个。

Wired Equator
绕线的赤道
It is easy to compare R and new R (original perimeter = 2xPIxR, length of wire = 2xPIx(new R)) and find out that the result is about 1.6 m. So a smaller man can go under it and a bigger man ducks.
很容易就可以比较旧的半径（R）和新的半径（新R）（原来的周长=2xPIxR, 线的长度 = 2xPIx(新 R)，然后得出相差1.6米。所以一个矮小的男人可以站在下面，高大的人就要低头了。

Diophantus
迪奥潘图
There is an easy equation to reflect the several ages of Diophantus:
用一个很容易的代数等式可以算出迪奥潘图的年龄：
1/6x + 1/12x + 1/7x + 5 + 1/2x + 4 = x
So the solution (x) is 84 years.
所以答案（x）是84岁。

Ahmes's Papyrus
阿米斯的抄本
2 equations give a clear answer to the given question:
两条等式给出了这个问题清楚的答案：
5w + 10d = 100
7*(2w + d) = 3w + 9d
Where w is amount of corn for the first worker, d is the difference (amount of corn) between two consecutive workers. So this is the solution:
W代表第一个工人玉米的数量，d代表了两个连续的工人玉米相差的数量。所以这就是答案：
1st worker = 10/6 measures of corn
第一个工人=10/6 份玉米
2nd worker = 65/6 measures of corn
第二个工人=65/6 份玉米
3rd worker = 120/6 (20) measures of corn
第三个工人=120/6（20）份玉米
4th worker = 175/6 measures of corn
第四个工人=175/6份玉米
5th worker = 230/6 measures of corn
第五个工人=230/6份玉米

Midnight
午夜
9 p.m.
晚上9点。

Clock
闹钟
There are a few ways of solving this one. I like the following simple way of thinking. The given situation (when the hour and minute hands overlay) occurs in 12 hours exactly 11 times after the same time. So it’s easy to figure out that 1/11 of the clock circle is at the time 1:05:27,273 and so the seconds hand is right on 27,273 seconds. There is no problem proving that the angle between the hours hand and the seconds hand is 131 degrees.
这道题有几种方法去解决。我喜欢下面这种很简单的思维。给出的条件（当时针和分针重叠时）在之后12个小时里出现了11次。所以很快就可以得出1/11圈是在1:05:27,273所以秒针指在27,273秒。这也可以同时证出时针和秒针之间的角度是131度。

Reservoir
储水箱
Because there are 24 hours in one day, in one hour fills the first tap 1/48, the second tap 1/72, the third tap 1/96 and the fourth tap fills 1/6 of the reservoir. That is all together (6+4+3+48) / 288 = 61/288. The reservoir will be full in 288/61 hours, which is 4 hours 43 minutes and about 17 seconds.
因为一天有24小时，在一个小时里可以装了第一个水龙头灌的1/48,第二个水龙头灌的1/72,第三个水龙头灌的1/96和第四个水龙头灌的1/6。这就总共灌了（6+4+3+48）/288=61/288.那么储水箱将需要288/61个小时，就是4小时43分和大概17秒。

Car
车
There are 4 cars needed, including the car with the important letter (which travels to the middle of the desert). Its empty tank must be filled to the top to get to the end of desert. The way between the military base (where the cars and petrol is) and the middle of the desert can be divided into 3 thirds. 3 cars will go in their thirds back and forth and over spilling 1/3 of their tanks. This way the tank of the important car will be filled and the letter will be delivered.
需要4辆车，包括装有重要邮件的车（走到沙漠的中央）。它必须要注满油才可以开过沙漠。从军营（车和汽油的所在地）到沙漠的中央可以分成三部分，每辆车将走到1/3，一辆车把1/3汽油转给另一辆车，然后回头，加满油后再到1/3的地方给走了2/3之后再回头的车加1/3的油。。。以此类推，那么装着信件的车就可以驶过沙漠了。

Airplane
飞机
Divide the way from pole to pole to 3 thirds (from the North Pole to the South Pole 3 thirds and from the South Pole to the North Pole 3 thirds).
把极点之间的路程分为三份（从北极到南极分三份，从南极到北极分三份）。
1st step - 2 airplanes to the first third, fuel up one airplane which continues to the second third and the first airplane goes back to the airport.
第一步-两架飞机飞完第一份，一架飞机向另一架飞机注入1/3油（另一架飞机现有2/3油）然后飞回机场。
2nd step - 2 airplanes fly again from the airport to the first third, fuel up one airplane which continues to the second third and the first airplane goes back to the airport.
第二步- 两架飞机从机场飞完第一份，一架飞机向另一架飞机注入1/3油（另一架飞机飞完第二份），然后飞回机场。
3rd step - So there are 2 airplanes on the second third, each having 2/3 of fuel. One of them fuels up the second one and goes back to the first third, where it meets the third airplane which comes from the airport to support it with 1/3 of fuel so that they both can return to the airport. In the meantime, the airplane at the second third having full tank flies as far as it can (so over the South Pole to the last third before the airport).
第三步- 现有两架飞机飞完第二份，每架飞机都有2/3的油。一架向另一架飞机注1/3油，然后飞回第一份，那里有机场飞来的飞机给它注入1/3油，然后一起飞回机场。与此同时，另一架飞机满油，可以飞过南极再飞向北极方向两份，（在离北极一份的地方）。
4th step - The rest is clear – one (of the two) airplane from the airport goes to the first third (the opposite direction as before), shares its 1/3 of fuel and both airplanes safely land back at the airport.
第四步-剩下的就很清楚了-一架飞机从机场起飞，在一份的地方给从南极飞来的飞机注1/3油，然后再一起飞回北极。


Belt
皮带
The original length of belt was 96 cm.
皮带原长96厘米。

Baldyville
秃头村
There can live maximum of 518 people in the town. By the way, it is clear that one inhabitant must by baldy, otherwise there wouldn’t be a single man in the town.
最多可以有518个居民。顺便提提，有一个村民是秃头的，否则村里一个人也不会有。

Josephine
约瑟芬
If there are n unfaithful husbands (UHs), every wife of an UH knows of n-1 UH's while every wife of a faithful husband knows of n UHs. [this because everyone has perfect information about everything except the fidelity of their own husband]. 如果有n个不忠的丈夫（UHs），每个不忠丈夫的妻子都知道n-1个不忠丈夫，每个忠诚丈夫的妻子都知道n个不忠丈夫。【这是因为每个妻子都知道别人的丈夫是否忠诚，但是不知道自己的丈夫是否忠诚】Now we do a simple induction: Assume that there is only one UH. Then all the wives but one know that there is just one UH, but the wife of the UH thinks that everyone is faithful. Upon hearing that "there is at least one UH", the wife realizes that the only husband it can be is her own, and so shoots him. Now, imagine that there are just two UH's.现在我们做一个简单的假设：假定只有一个不忠丈夫。那么除了那个不忠丈夫的妻子不知道外，其它妻子都知道只有一个不忠丈夫。从约瑟芬说的“至少有一个不忠丈夫”，那么那个妻子必然知道是她自己的丈夫不忠，所以会射杀他。现在想想如果有两个不忠丈夫。Each wife of an UH assumes that the situation is "only one UH in town" and so waits to hear the other wife (she knows who it is, of course) shoot her husband on the first night. When no one is shot, that can only be because her OWN husband was a second UH. The wife of the second UH makes the same deduction when no shot is fired the first night (she was waiting, and expecting the other to shoot, too). So they both figure it out after the first night, and shoot their husbands the second night. It is easy to tidy up the induction to show that the n UHs will all be shot just on the n'th midnight.每个不忠丈夫的妻子只知道一个不忠丈夫，所以就等着那个不忠丈夫在第一天被射杀（她当然知道是谁）。当第一晚没人被射杀，那么唯一的可能就是自己的丈夫不忠。所以两个妻子在第一晚后都知道了，然后在第二晚射杀她们的丈夫。如此类推，就可以得知有n个不忠丈夫在第n个晚上被射杀。

Why 1 = 2
为什么1=2
The equation is solved the right way, apart from one little detail. There must be stated that x does not equal y, because there would be dividing by zero, which is not defined in maths.
除了一个细节外，这条等式是成立的。必须要说明x不等于y，因为数学上是不可以除以0的。
x = 2
x(x-1) = 2(x-1)
x2-x = 2x-2
x2-2x = x-2    
x(x-2) = x-2    
x = 1


Open Polygon
多边形
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Logic Riddles
逻辑推理题
Apples
苹果
4 kids get an apple (one apple for each one of them) and the fifth kid gets an apple with the basket still containing the apple.
四个小孩拿一个（每人拿一个），第五个小孩拿着篮子，篮子里还有一个苹果。

Sack
袋子
Pour the lentils into the innkeeper’s sack, bind it and turn inside out. Pour in the peas. Then unbind the sack a pour the lentils back to your sack.
把扁豆倒进旅馆主人的袋子里，绑起然后把里面翻出来。倒进豌豆。然后把绳子解了，再倒进你的袋子里。

Marine 
海军
The marines were standing back to the edge of the ship so they were looking at each other. It does not matter where the ship is (of course it does not apply to the North and South Pole).
两个海军面对面站在船的两边。船在哪里没有关系（当然不包括北极和南极）。

Ship Ladder
船梯
If the tide is raising water, then it is raising the ship on water, too. So water will reach still the first rung.
如果潮涨会提高水位，那么也会提高船身的水位。所以水还是在原来的第一条横木。

Hotel Bill
旅馆账单
This is a nice nonsense. Each guest paid $9 because they gave $30 and they were given back $3. The manager got $25 and the difference ($2) has the bellboy. So it is nonsense to add the $2 to the $27, since the bellboy kept the $2.
这是一个很好的无聊题。每个客人给了9块因为他们总共给了30块，还回三块。经理拿了25块，侍者拿了2块。所以不能把2块加到27块上面，因为侍者是收了2块

Hotel
旅馆
Of course, it is impossible. Into the second room should have gone the 2nd guest, because the 13th guest was waiting in room number 1.
当然是不可能的。第二位客人应该去2号房，因为第十三个客人在1号房等着。

Puzzling Prattle (by Sam Loyd)
闲聊谜语（山姆。莱斯创作）
The two children were so befogged over the calendar that they had started on their way to school on Sunday morning!
这个是星期天的早上！

Twins
双胞胎
The two babies are two of a set of triplets.
两个婴儿是三胞胎的其中两个。

Photograph
照片
I am looking at my son.
我在看我的儿子。

Cost of War
战争的代价
Add up all the injuries, and you find that 100 soldiers suffered a total of 310 injuries. That total means that, at a minimum, 100 soldiers (Edit: it is, of course, not 100 soldiers, but 100 as calculation from 310 person-injuries out of 400 possible) lost 3 body parts, and 10 (the remainder when dividing 310 by 100) must have lost all 4 body parts. (In reality, as many as 70 may have lost all 4 body parts.)
把所有伤员加起来，有310个，而士兵只有100个。这个总数说明了最少有一百个士兵失去了三样器官（编注：当然不是100个士兵，但是100是从400个可能中的310个受伤了算出的），有10个士兵失去了四样器官（用310除以100得出的余数）。（事实上，最多可以有70个士兵同时失去了四样器官。）

Edit: another way to solve it is to draw a line of 100 parts and compare injuries from opposite ends of the line, finding the intersection part of all 4 injuries. If left side of line (LS), right side (RS) and intersection (I), then:
70 (LS) and 75 (RS), then 45 (I)
45 (LS) and 85 (RS), then 30 (I)
30 (LS) and 80 (RS), then 10 (I) soldiers must have lost all 4 parts
编注：另一种方法去解这道题是画一条线去把100样器官作比较，逐个找出线上交叉的部分，得出同时四部分都交叉的，就是:
70(左)和75（右），得45（交叉）
45（左）和85（右），得30（交叉）
30（左）和80（右），得10（交叉）。
所以10是答案。

Bavarian
饮料
There is exactly as much tonic in the glass of fernet as there is fernet in the glass of tonic.
汤力水和分力水是相同的。

The Short Ones
短谜语题
• Why should a living man be buried?
在生的人为什么要被埋葬？

• No, it is not legal to get married if you are dead.
不，如果你死了的话，结婚是不合法的。

• The bear is white since the house is built on the North Pole.
熊是白色的，因为房子建在北极点上。

• If you take 2 apples, than you have of course 2.
如果你拿了2个苹果，那你就有2个苹果啦。

• The score before any hockey game should be 0:0, shouldn’t it?
比分在曲棍球比赛开场前当然是0:0啦，不是吗？

• A match, of course.
当然是火柴啦。

• There are more Chinese men than Japanese men.
因为中国男人比日本男人多。

• Normal – I wouldn’t be very happy if I had all my fingers (10) on one hand.
正常-如果我的十个手指都长在一只手上，我可不会开心。
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Logic Problems
推理问题
Two Doors
两扇门
There are a few types of questions:
这里可以有几种问题：
Indirect question: „Hey you, what would the other sister say, if I asked her where this road leads?“ The answer is always negated.
不直接的问题：“喂，你知道如果我问你姐姐这条路走向哪里，她会怎样回答吗？”答案总是错的那条路。
Tricky question: „Hey you, does a truth teller stand at the road to freedom?“ The answer will be YES, if I am asking a truth teller who is standing at the road to the village, or if I am asking a liar standing again at the same door. So I can walk that road. A similar deduction can be made for negative answer.
狡猾的问题：“喂，说真话的人是不是站在去自由村的路上？”答案是肯定的话，如果我问的是说真话的人，那他站在去自由村的路上，如果是说假话的人，那么他也是站在去自由村的路上。用同样的推理可以推出答案是否定的时候。
Complicated question: „Hey you, what would you say, if I asked you ...?“ A truth teller is clear, but a liar should lie. However, she is forced by the question to lie two times and thus speak the truth.
复杂的问题： “喂，如果我问你。。。，你会怎样回答？”说真话的人答案就很清楚，但是说谎的人就要说谎。然而，她被迫说谎两次，那么就成为真话了。

Logic Problems at the Court I.
法庭上的推理问题I
Yes, the statement helped him. If he is a truth teller, then a liar committed the crime. If he is a liar, then his statement points to a truth teller who is guilty. Thus he is again innocent regarding the statement.
是的，这个陈述可以帮助他。如果他是说真话的人，那么说谎的人就犯了罪。如果他是说谎的人，那么这个声明就指向说真话的人是有罪的。所以这个陈述说声明他无罪。

Logic Problems at the Court II.
法庭上的推理问题II
1. „I did it – I am guilty.“
“我做的 – 我有罪。”
2. There is no such sentence.
没有这样的话。
3. „I am innocent.“
“我是无辜的。”
4. „Either I am a truth teller and innocent, or I am a liar and guilty.“ = „I am either an innocent truth teller, or a guilty liar.“ The court could think this way:
“要不我是说真话和无辜的，要不我是说谎者和有罪的。”=“我要不是无辜的诚实的人，要不是要罪的说谎者。”那么法庭会这样想：
4.1 If he is a truth teller, then his statement is true and he is innocent.
4.1 如果他是说真话的人，那么他的陈述是真的，他是无辜的。
4.2 If he is a liar, then his statement is a lie and he is neither an innocent truth teller nor a guilty liar. This means that he is an innocent liar.
4.2 如果他是说谎的人，那么他的陈述是谎言，那么他既不是一个无辜的诚实的人，也不是有罪的说谎者。那么就是一个无辜的说谎者。
4.3 If he is normal, then he is innocent since a normal man couldn’t have done that.
4.3 如果他是正常的，那么他就是无辜的因为一个正常人是不会那样做的。


Pandora's Box I.
潘多拉的盒子I
The given conditions indicate that only the inscription on the lead box is true. So the ring is in the silver box.
给出的条件指出只有皮盒子上的题铭是正确的。所以戒指在银盒子里。

Pandora's Box II.
潘多拉的盒子II
The ring must be in the golden box, otherwise all the inscriptions would be either true or false.
戒指必须在金盒子里，否则所有的题铭都可以是既正确又错误。

Island Baal
岛上的人
Conjunction used by A is true only if both parts are true. Under the assumption that B is an honest man, then A would be honest too (B says so) and so B would be a liar as A said, which would be a conflict. So B is a liar. And knowing that, B actually said that A is a liar, too. First statement of A is thus a lie and B is not a lying monkey. However, B is lying which means he is not a monkey. B is a lying man. The second statement of A indicates that A is a monkey – so A is a lying monkey.
A说的要是真的话，那么两个说的都是事实的。如果假设B是诚实的人，那么A也是诚实的（因为B这样说）那么A说B就是说谎的人，这是矛盾的。所以B是说谎者。知道这点，B实际上说A也是一个说谎者。所以第一句只能是假话，B不是 一只说谎的猴子。然而，B是说谎者，这就说明了他不是猴子。B是说谎的人。第二句说A是猴子-所以A是说谎的猴子。

Truth, Lie and Wisdom
真理，谎言和智慧
Let’s assign a letter to each goddess. We get these sentences.
1. A says: B is Truth.
2. B says: I am Wisdom.
3. C says: B is Lie.
First sentence hints that A is not Truth. Second sentence is not said by Truth either, so C is Truth. Thus the third sentence is true. B is Lie and A is Wisdom.
让我们给每个女神安一个字母。我们可以有以下的句子。
1. A说：B是真理。
2. B说：我是智慧。
3. C说：B是谎言。
第一句提示了A不是真理。第二句也不是真理说的，所以C是真理。所以第三句是事实。所以B是谎言，A是智慧。

Coins
硬币
"You will give me neither copper nor silver coin." 
If it is true, then I have to get the gold coin. If it is a lie, then the negation must be true, so "you give me either copper or silver coin", which would break the given conditions that you get no coin when lying. So the first sentence must be true.
“你既不会给我铜币也不会给我银币。”
如果是事实，那么我将得到金币。如果是谎言，那么相反的就是事实的，就是说“你要不给我铜币，要不给我银币”，这就违反了给出的“如果你说谎就得不到任何钱币”的条件。所以第一句话必须是事实。
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Water and Weighing Puzzles
水和重量谜题
Water Puzzle I.
水谜I
Fill the 5-litre bowl and overspill water to the 3-litre bowl, which you empty afterwards. From the 5-litre bowl overspill the 2 remaining liters to the 3-litre bowl. Refill the 5-litre bowl and fill in the 3-litre bowl (with 1 liter), so there stay the 4 required liters in the 5-litre bowl.
装满5升的碗，然后倒进3升的碗，然后把3升碗里的水倒掉，再把5升碗里剩下的2升水倒进3升的碗。重新装满5升碗，倒满3升的碗（1升水），那么5升碗里就剩下4升水了。

Water Puzzle II.
水谜II
1. pour 5 liters from the 8-litre to the 5-litre bowl,
2. pour 3 liters from the 5-litre to the 3-litre bowl,
3. pour these 3 liters back to the 8-litre bowl,
4. pour the remaining 2 liters from the 5-litre to the 3-litre bowl,
5. pour 5 liters from the 8-litre to the 5-litre bowl,
6. pour the missing 1 liter from the 5-litre to the 3-litre bowl (there should be 4 liters left in the 5-litre bowl),
7. pour the 3 liters back from the 3-litre to the 8-litre bowl (and that’s it – in 8-litre bowl 4 liters).
1. 从8升碗里倒5升水到5升碗里，
2. 从5升碗里倒3升水到3升碗里，
3. 把3升水倒回8升碗里，
4. 把5升碗里剩下的2升水倒进3升碗里，
5. 从8升碗里倒5升水到5升碗里，
6.从5升碗里倒1升水到3升碗里（这时5升碗里应该有4升水），
7.把3升水从3升碗里倒进8升碗里（完成了-现在8升碗里有4升水）。

Water Puzzle III.
水谜III
Three numerals in each number stand for liters in each bowl:
700 - 340 - 313 - 610 - 601 - 241 - 223 (pouring water 6 times)
每组数里的每个数字代表每个碗里水的升数：
700-340-313-610-601-241-223（倒6次水）

Water Puzzle IV.
水谜IV
First fill the 9-litre bowl. Then overspill 4 liters to the 4-litre bowl (there are 5 liters in the 9-litre bowl afterwards) and pour out the water from the 4-litre bowl. And again overspill 4 liters to the 4-litre bowl and empty it. Then overspill the remaining liter to the 4-litre bowl but this time keep it there. Fill the 9-litre bowl to the top for the second time and overspill water to fill the 4-litre bowl to the top. Thus the required 6 liters stay in the 9-litre bowl.
先装满9升的碗。然后倒4升水到4升碗里（9升碗里剩下5升水），把4升碗里的水倒掉。然后把9升碗里剩下的5升水倒进4升碗里，再倒掉。再把剩下的水倒进4升碗里，这次不要倒掉。第二次装满9升碗，把4升碗里装满。那么现在9升碗里的水就剩下6升了。

Water Puzzle V.
水谜V
1st Fill the 5-litre bowl, overspill water from it to fill the 4-litre bowl, which you empty afterwards. Overspill the remaining 1 liter to the 4-litre bowl. Refill the 5-litre bowl and overspill water from it to fill the 4-litre bowl (where there is already 1 liter). Thus you are left with 2 liters in the 5-litre bowl.
第一，装满5升碗，倒进4升碗里倒满，然后把4升碗里的水倒掉。再把剩下的1升水倒进4升碗里。重新装满5升碗，从5升碗里倒水进4升碗装满(本来就有1升水).这样，就剩下2升水在5升碗里了。
2nd The same principle – this time from the other end. Fill the 3-litre bowl and overspill all of the water to the 4-litre bowl. Refill the 3-litre bowl and fill the 4-litre bowl to the top. And there you have 2 liters in the 3-litre bowl.
第二，同样的道理-这次反过来。先倒满3升碗，把3升碗里的水倒进4升碗。重新装满3升碗，倒满4升碗。这样你就有2升水在3升碗里了。

Water Puzzle VI.
水谜VI
1st Pour 1 liter from bowl A to bowl C. Thus 4 liters are left in the bowl A and bowl C is full (3 liters).
2nd Pour 2 liters from bowl C to bowl B. Doing that you have full bowl B (5 liters) and there is 1 liter left in bowl C.
第1， 从A碗倒1升水到C碗。那么A碗里有4升水，C碗里满的（3升）。
第2， 从C碗倒2升水到B碗。那么B碗满了（5升），C碗里剩下1升。

Weighing Puzzle I.
重量I
If there is only 1 bag with forgeries, then take 1 coin from the first bag, 2 coins from the second bag ... ten coins from the tenth bag and weigh the picked coins. Find out how many grams does it weigh and compare it to the ideal state of having all original coins. The amount of grams (the difference) is the place of the bag with fake coins.
如果只有一袋假币，那么从第一袋里拿出1个钱币，第二袋里拿出2个钱币。。。第十袋里那出10个钱币。把它们称重，和如果全是真币的重量比较，相差的重量就指出了那个编号袋子的是假币。
If there is more than 1 bag with forgeries, then there is lots of possible solution. I can offer you this one as an example: 1, 2, 4, 10, 20, 50, 100, 200, 500 and 1000.
如果多过一个袋子的是假币，那就有很多种可能。
我可以举出这个例子：1，2，4，10，20，50，100，200，500，1000.

Weighing Puzzle II.
重量谜II
Spike uses 51 gummy drop bears: from the 7 boxes he takes respectively 0, 1, 2, 4, 7, 13, and 24 bears. 
The notion is that each box of imitation bears will subtract its number of bears from the total "ideal" weight of 510 grams (1 gram of missing weight per bear), so Spike weighs the bears, subtracts the result from 510 to obtain a number N, and finds the unique combination of 3 numbers from the above list (since there are 3 "imitation" boxes) that sum to N. 
斯拜克用了51颗小熊糖：他依次从7个盒子里拿了0，1，2，4，7，13和24颗。
每一盒仿造的小熊糖都是从“理想的”重量510克里扣除掉的（每一颗都少1克），所以斯拜克称拿出来的小熊糖，，从510克里扣除，得到一个数字N，然后从上面的数列中找一个3个数字的独特组合加起来等于N（因为有3盒仿造的）
The trick is for the sums of all triples selected from the set S of numbers of bears to be unique. To accomplish this, I put numbers into S one at a time in ascending order, starting with the obvious choice, 0. (Why is this obvious? If I'd started with k > 0, then I could have improved on the resulting solution by subtracting k from each number) Each new number obviously had to be greater than any previous, because otherwise sums are not unique, but also the sums it made when paired with any previous number had to be distinct from all previous pairs (otherwise when this pair is combined with a third number you can't distinguish it from the other pair)--except for the last box, where we can ignore this point. And most obviously all the new triples had to be distinct from any old triples; it was easy to find what the new triples were by adding the newest number to each old sum of pairs. 
巧妙的就是从S数列里3个数字加起来的和是独有的。要达到这个，我把数字以递增顺序排列成S数列，从很明显的选择数字0开始（为什么是明显的选择呢？如果我从K开始，K>0，那么我就要把最后的结果减去K）。每一个新的数字明显要比前一个数字大，否则总和就不独有了，但是新数字和前面的数字组成的总和一定要不同与所有其它的数字对（否则当这个数字对和第三个数字组合起来的时候就分不出了） - 最后一个格除外，你可以忽略这个点。而且，很明显地，所有新三字组合都要不同于任何旧的三字组合。你只要把新数字加到旧的数字对总和里就可以了。
Now, in case you're curious, the possible weight deficits and their unique decompositions are: 
现在，满足你的好奇心，缺少的重量和他们独一无二的组合如下：
3 = 0 + 1 + 2
5 = 0 + 1 + 4
6 = 0 + 2 + 4
7 = 1 + 2 + 4
8 = 0 + 1 + 7
9 = 0 + 2 + 7
10 = 1 + 2 + 7
11 = 0 + 4 + 7
12 = 1 + 4 + 7
13 = 2 + 4 + 7
14 = 0 + 1 + 13
15 = 0 + 2 + 13
16 = 1 + 2 + 13
17 = 0 + 4 + 13
18 = 1 + 4 + 13
19 = 2 + 4 + 13
20 = 0 + 7 + 13
21 = 1 + 7 + 13
22 = 2 + 7 + 13
24 = 4 + 7 + 13
25 = 0 + 1 + 24
26 = 0 + 2 + 24
27 = 1 + 2 + 24
28 = 0 + 4 + 24
29 = 1 + 4 + 24
30 = 2 + 4 + 24
31 = 0 + 7 + 24
32 = 1 + 7 + 24
33 = 2 + 7 + 24
35 = 4 + 7 + 24
37 = 0 + 13 + 24
38 = 1 + 13 + 24
39 = 2 + 13 + 24
41 = 4 + 13 + 24
44 = 7 + 13 + 24
Note that there had to be (7 choose 3) distinct values; they end up ranging from 3 to 44 inclusive with 7 numbers missing: 4, 23, 34, 36, 40, 42, and 43.
这里注意他们必须是不同的数值；他们从3到44，有7个数字是缺的：4, 23, 34, 36, 40, 42, 和 43。

Weighing Puzzle III.
重量谜题III
Similar to the former brain teaser.
I take out 0 (no coin from the first bag), 1 (one coin from the second bag etc.), 2, 4, 7, 13, 24, 44 coins (from the last 8th bag). Each triple is unique enabling an easy way to identify the bags with fake coins (using only 95 coins).
和刚才的题目类似。
我从第一个袋子里取0个钱币，第二个袋子里取1个钱币，2，4，7，13，24，44（从最后第八个袋子里）个钱币。每一个三数组合的和都是独有的，能够容易地区分出 哪袋是假币（只用了95个钱币的）。

Weighing Puzzle IV.
重量谜题IV
It is enough to use the pair of scales just 3 times. Let’s mark the balls using numbers from 1 to 12 and these special symbols:
x? means I know nothing about ball number x;
x< means that this ball is maybe lighter then the others;
x> means that this ball is maybe heavier then the others;
x. means this ball is “normal”.
At first, I lay on the left pan balls 1? 2? 3? 4? and on the right pan balls 5? 6? 7? 8?.
If there is equilibrium, then the wrong ball is among balls 9-12. I put 1. 2. 3. on the left and 9? 10? 11? on the right pan.
用3次天平就够了。用1到12号数字和这些特殊的符号记下球：
X?代表我对这个号码的球什么都不知道；
X<代表这个球比其他的球轻一些；
X >代表这个球比其他的球重一些；
X．代表这个球是“正常的”。
首先，我把左边的球标上1?2?3?4?，右边的球5?6?7?8?.
如果两边是等重的，那么错误的那个球在9-12之中。再把1.2.3.放在左边，9?10?11?放在右边。
If there is equilibrium, then the wrong ball is number 12 and comparing it with another ball I find out if it is heavier or lighter.
If the left pan is heavier, I know that 12 is normal and 9< 10< 11<. I weigh 9< and 10<. 
If they are the same weight, then ball 11 is lighter then all other balls.
If they are not the same weight, then the lighter ball is the one up.
If the right pan is heavier, then 9> 10> and 11> and the procedure is similar to the former text.
如果天平两边是等重的，那么错误的那个球就是12号，然后再称一下比其他球轻些还是重些。
如果左边的重些，那么我就知道12号球是正常的，还有9<10<11<.我再称一下9<和10<。
如果他们等重，那么11就是比其它球轻一些。
如果他们不等重，那么向上翘的是轻一些的那个球。
如果右边的重些，那么就是9>10>11>,接下来的程序也和刚才的类似。

If the left pan is heavier, then 1> 2> 3> 4>, 5< 6< 7< 8< and 9. 10. 11. 12. Now I lay on the left pan 1> 2> 3> 5< and on the right pan 4> 9. 10. 11.
If there is equilibrium, then the suspicious balls are 6< 7< and 8<. Identifying the wrong one is similar to the former case of 9< 10< 11<
如果左边的盘重些，那么1>2>3>4>,5<6<7<8<和9.10.11.12.现在我把1>2>3>5<放在左边，4>9.10.11.放在右边。
如果两边等重，那么可疑的球就是6<7<和8<，然后确定哪个是错的球的程序就和上面的9<10<11<时的类似。
If the left pan is lighter, then the wrong ball can be 5< or 4>. I compare for instance 1. and 4>. If they weigh the same, then ball 5 is lighter the all the others. Otherwise ball 4 is heavier (is down). 
If the left pan is heavier, then all balls are normal except for 1> 2> and 3>. Identifying the wrong ball among 3 balls was described earlier.
如果左边的盘子轻一些，那么错误的球就是5<或者4>。我用1.和4>作比较。如果等重，那么5号球就是比其他球轻一些的那个球。否则4号就是比其他球重的那个球。（下沉）。
如果左边的盘子重一些，那么除了1>2>和3>,其它的球都是正常的。从3个球里找出那个错球我们前面已经说了。

Weighing Puzzle V.
重量谜题V
Lay one red and one white ball on left pan and one blue and the other white ball on the right pan. If there is equilibrium, then it is clear that there is one heavier and one lighter ball on each side. That’s why comparing white balls is enough to learn everything.
However, if at first weighing one side is heavier, then there must be a heavier white ball on that side. The next reasonable step is to compare the already weighed red ball and yet not weighed blue ball. After that, the character of each ball is clear, isn’t it?
把一红一白球放在左边，一蓝一白球放在右边。如果等重，那么就很清楚一边有一个重一点的球，一边有一个轻一点的球。这就是为什么只要比较白球就知道所有的事情了。
但是，如果一开始有一边重一些，那么就肯定一边的白球是重一些的。下一步就是比较已经称过的红球和还没有称过的篮球。然后，轻重球就可以区分开来了。

Weighing Puzzle VI.
重量谜题VI
Divide the 9 balls into 3 groups of 3. Weigh two groups. Thus you find out which group is the heavier ball in. Choose 2 balls from this group and compare their weights. And that's it.
把9个球分成3组，每组3个。称其中两组。然后你就可以找出那一组球里有重一点的球。再从这组球里取两个球，比较它们的重量。就可以了。

Weighing Puzzle VII.
重量谜题VII
It is enough to use a pair of scales 3 times.
Divide the 27 balls to 3 groups, 9 balls in each. Compare 2 groups – the heavier one contains the ball. If there is equilibrium, then the ball is in the third group. Thus we know the 9 suspicious balls.
Divide the 9 balls to 3 groups of 3. Compare 2 groups, and as mentioned above, identify the group of 3 suspicious balls.
Compare 2 balls (of the 3 possibly heavier ones) and you know everything.
So we used a pair of scales 3 times to identify the heavier ball.
用天平3次就可以了。
把27个球分成3组，9个一组。比较其中的两组-重的那组包含了那个球。如果是等重，那个球就在第3组里。这样我们就知道那9个可疑的球。
再把9个球分成3组。比较其中的两组，像刚才那样，找出可疑的3个球。
比较其中的2个球（从3个可能重一些的球里），然后你就知道哪个是了。
所以使用3次天平就可以知道哪个球重一些。

Weighing Puzzle VIII.
重量谜题VIII
There are necessary at least 5 weights to bring into balance any of the 121 possible objects. And they weigh as follows: 1, 3, 9, 27, 81g.
最少需要用5个砝码可以得出任何121个物件的重量。砝码的重量是1，2，9，27，81g。

Sand-glass I.
沙漏I
Turn both sand-glasses. After 4 minutes turn upside down the 4-min sand-glass. When the 7-min sand-glass spills the last grain, turn the 7-min upside down. Then you have 1 minute in the 4-min sand-glass left and after spilling everything, in the 7-min sand-glass there will be 1 minute of sand down (already spilt). Turn the 7-min sand-glass upside down and let the 1 minute go back. And that's it. 4 + 3 + 1 + 1 = 9
两个沙漏同时倒转。4分钟后把四分钟的沙漏倒转。当7分钟的沙漏漏完了最后一粒沙，把它倒转。这时4分钟的沙漏就还剩下1分钟，当4分钟的沙漏漏完后，在7分钟的沙漏里有一分钟的沙子已经漏下去了，然后把7分钟的沙漏倒转，就再量出1分钟。这就行了。4+3+1+1=9.

Sand-glass II.
沙漏II
When the test began, the teacher turned both 7min and 11min sand-glasses. After the 7min one spilt its last grain, he turned it upside down (the 11min one is still to spill sand for another 4 minutes). When the 11min sand-glass was spilt, he turned the 7min one upside down for the last time. And that’s it.
当考试开始的时候，老师同时把7分钟和11分钟的沙漏倒转。当7分钟的沙漏漏完后，把它倒转（11分钟的沙漏还有4分钟）。当11分钟的沙漏漏完后，他把7分钟的沙漏倒转最后一次。这就可以了。

Igniter Cords 
导火绳
Start fire on both ends of one igniter cord and on one end of the second igniter cord. The very moment the first cord (where both ends burn) stops burning (that is after 30 minutes), start fire on the other end of the second cord (otherwise it would burn another 30 minutes). Thus the second igniter cord burns just 15 minutes from then. And that is all together 45 minutes.
把一条导火绳两头一起开始烧，另一条导火绳只烧一头。等两头一起烧的那条绳烧完了（就是30分钟），把另一条绳的第二头点着（否则它就又会再烧30分钟）。这样第二条绳就再烧15分钟就烧完了。这样就计算了45分钟。
http://brainden.com/einsteins-riddles.htm

Einstein's Riddles
爱因斯坦谜题

Bear
熊
It all happened on the North Pole. When the man shot, he must have been right on the North Pole. Getting it? So it makes sense to assume that the only color the bear could be was WHITE. 
So this is it. I've heard another logical solutions (e. g. that there are no bears neither on the North nor on the South Pole), but this one presented makes sense to me. And what about you?
这是在北极发生的。当人射击时，他一定在北极点。想到了吗？这样，熊就只有一种颜色，就是白色。
就是这样了。我还听到了另外的推理答案（比如：不管在北极点还是南极点都没有熊），但是这个答案我觉得有意思。你觉得呢？

Neighbors
邻居
[image: Attached Image]
	挪威人
	黄色
	顿山牌
	水
	猫

	丹麦人
	蓝色
	波兰斯牌
	茶
	马

	英国人
	红色
	坡魔牌
	牛奶
	鸟

	德国人
	绿色
	王子牌
	咖啡
	鱼

	瑞典人
	白色
	蓝领牌
	啤酒
	狗
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Number Puzzles
数谜

Easy Savory	
容易的开胃菜
None of the students can have numbers 1 or 10, since they would guess the other one’s number with no problems. I will describe solutions at one end of the interval of numbers 1-10 (the same can be done on the other end).
Information that the second student does not know must be important for the first student. So the first one must expect that the second one has 1 or 3 (if the first one has 2). And as the second student does not know, then he has certainly not 1. So the first pair is 2 and 3.
If the first one had 3, then he would expect the other one to have either 2 or 4. But if the second one had 2 (and the second one would have known that the first one does not have 1), then he would know the number of the first student. However, neither the second student knows the answer – so he has 4. The second pair of numbers is 3 and 4.
Solutions at the other end of interval are 9 and 8 or 8 and 7.
没有一个学生是有1和10的，因为他们就可以猜出其他学生的数字了。我从1-10个数字里较小的一边数字去解释（那么另一边的就同样的原理了）。
“第二个学生不知道”这个信息对第一个学生是很重要的。所以第一个学生就可以预期到第二个学生有1或者3（如果第一个学生有2的话）。因为第二个学生不知道，所以他肯定没有1.所以第一对是2和3。如果第一个学生有3，那么他就知道另一个人有2或者4.但是如果第二个学生有2（那他就知道第一个学生没有1），那么他就知道第一个学生的号码了。然而，第二个学生不知道答案 - 所以他有4.所以第二对答案是3和4.
从数列的另一边想就是9和8或者8和7.

Savory
开胃菜
The numbers were 2 and 9. And here comes the entire solution.
There shall be two natural numbers bigger than 1. First student knows their product and the other one knows their sum.
The sum is smaller than 14 (for natural numbers bigger than 1), so the following combinations are possible:
号码是2和9.这里是答案。
有两个大于1的自然数。第一个学生知道它们的乘积，另一个学生知道它们的总和。
总和小于14（大于1的自然数），所以有以下可能的答案：
2 2 ... NO - the first student would have known the sum as well
2 2 	不会-否则第一个学生也会知道它们的总和
2 3 ... NO - the first student would have known the sum as well
2 3	不会-否则第一个学生也会知道它们的总和
2 4 ... NO - the first student would have known the sum as well
2 4	不会-否则第一个学生也会知道它们的总和
2 5 ... NO - the first student would have known the sum as well
2 5	不会-否则第一个学生也会知道它们的总和
2 6
2 7 ... NO - the first student would have known the sum as well
2 7	不会-否则第一个学生也会知道它们的总和
2 8
2 9
2 10
2 11 ... NO - the first student would have known the sum as well
2 11	不会-否则第一个学生也会知道它们的总和
3 3 ... NO - the first student would have known the sum as well
3 3	不会-否则第一个学生也会知道它们的总和
3 4
3 5 ... NO - the first student would have known the sum as well
3 5	不会-否则第一个学生也会知道它们的总和
3 6
3 7 ... NO - the first student would have known the sum as well
3 7	不会-否则第一个学生也会知道它们的总和
3 8 ... NO - the product does not have all possible sums smaller than 14 (eg. 2 + 12)
3 8	不会-它们的乘积可以由两个加起来大于14的数字得出（例如2+12）
3 9 ... NO - the first student would have known the sum as well
3 9	不会-否则第一个学生也会知道它们的总和
3 10 ... NO - the product does not have all possible sums smaller than 14
3 10	不会-它们的乘积可以由两个加起来大于14的数字得出
4 4
4 5
4 6 ... NO - the product does not have all possible sums smaller than 14
4 6	不会-它们的乘积可以由两个加起来大于14的数字得出
4 7 ... NO - the product does not have all possible sums smaller than 14
4 7	不会-它们的乘积可以由两个加起来大于14的数字得出
4 8 ... NO - the product does not have all possible sums smaller than 14
4 8	不会-它们的乘积可以由两个加起来大于14的数字得出
4 9 ... NO - the product does not have all possible sums smaller than 14
4 9	不会-它们的乘积可以由两个加起来大于14的数字得出
5 5 ... NO - the first student would have known the sum as well
5 5	不会-否则第一个学生也会知道它们的总和
5 6 ... NO - the product does not have all possible sums smaller than 14
5 6	不会-它们的乘积可以由两个加起来大于14的数字得出
5 7 ... NO - the first student would have known the sum as well
5 7	不会-否则第一个学生也会知道它们的总和
5 8 ... NO - the product does not have all possible sums smaller than 14
5 8	不会-它们的乘积可以由两个加起来大于14的数字得出
6 6 ... NO - the product does not have all possible sums smaller than 14
6 6	不会-它们的乘积可以由两个加起来大于14的数字得出
6 7 ... NO - the product does not have all possible sums smaller than 14
6 7	不会-它们的乘积可以由两个加起来大于14的数字得出

So there are the following combinations left:
所以就剩下下面的组合：
2 6 ... NO – it is impossible to create any pair of numbers from the given sum, where there would be at least one sum (created from their product) bigger than 14 (it is impossible to create a pair of numbers from sum 8, so that the product would have an alternative sum bigger than 14 ... eg. if 4 and 4, then there is no sum – created from their product 16 – bigger than 14 – eg. 2 + 8 = only 10)
2 6	不会-不可能从得出的总和里得到两个数字，它们的乘积有另外的两个数的总和大于14。（不可能从8里得到两个数字，它们的乘积会还有另外的总和大于14 。。。比如4和4，就没有从它们的乘积得出另两个数的总和是大于14的了-例如2+8仅仅等于10。）
2 8
2 9
2 10
3 4 ... NO – it is impossible to create any pair of numbers from the given sum, where there would be at least one sum (created from their product) bigger than 14
3 4	不会-不可能从得出的总和里得到两个数字，它们的乘积有另外的两个数的总和大于14。
3 6 ... NO – it is impossible to create any pair of numbers from the given sum, where there would be at least one sum (created from their product) bigger than 14
3 6	不会-不可能从得出的总和里得到两个数字，它们的乘积有另外的两个数的总和大于14。
4 4 ... NO – it is impossible to create any pair of numbers from the given sum, where there would be at least one sum (created from their product) bigger than 14
4 4	不会-不可能从得出的总和里得到两个数字，它们的乘积有另外的两个数的总和大于14。
4 5 ... NO – it is impossible to create any pair of numbers from the given sum, where there would be at least one sum (created from their product) bigger than 14
4 5	不会-不可能从得出的总和里得到两个数字，它们的乘积有另外的两个数的总和大于14。

The second student (knowing the sum) knew, that the first student (knowing the product) does not know the sum and he thought that the first student does not know that the sum is smaller than 14.
第二个学生（知道总和）知道，第一个学生（知道乘积）不知道总和，和第二个学生想第一个学生不知道总和小于14.

Only 3 combinations left:
只有三个组合剩下了：
2 8 ... product = 16, sum = 10
2 9 ... product = 18, sum = 11
2 10 ... product = 20, sum = 12
2和8		乘积是16，总和是10
1和9		乘积是18，总和是11
2 和10	乘积是20，总和是12

Let’s eliminate the sums, which can be created using a unique combination of numbers – if the sum is clear when knowing the product (this could have been done earlier, but it wouldn’t be so exciting) - because the second student knew, that his sum is not created with such a pair of numbers. And so the sum can not be 10 (because 7 and 3) – the second student knew, that the first student does not know the sum – but if the sum was 10, then the first student could have known the sum if the pair was 7 and 3.
The same reasoning is used for eliminating sum 12 (because 5 and 7). 
So we have just one possibility – the only solution – 2 and 9.
And that’s it.
让我们再来用这些数字对来排除这些总和-如果在知道乘积时总和就清楚的（这一步可以早点做，但是就没有那么有趣了）-因为第二个学生知道，他的总和不是这一对数字组成的。所以总和不能是10（因为7和3）-第二个学生知道第一个学生是不知道总和的-但是如果总和是10，那么第一个学生就应该知道总和，如果数字对是7和3.
同样的道理可以排除掉总和是12（因为5和7）。
所以我们只有一种可能性-一个答案-2和9 。


Children
小孩
Let’s start with the known product – 36. Write on a sheet of paper the possible combinations giving the product of 36. Knowing that the sum is not enough to be sure, there are two possible combinations with the same sum (1-6-6 a 2-2-9). And as we learned further that the oldest son wears a hat, it is clear that the correct combination of ages is 2-2-9, where there is exactly one of them the oldest one.
让我们从已经知道的乘积开始-36.在一张纸上写下所有可能的组合。知道它们的总和还不足够，因为有两种可能是得出相同的总和的（1-6-6和2-2-9）。我们还知道最大的儿子戴了一顶帽子，这就很清楚知道正确的组合是2-2-9，因为只有一个最大的孩子。

Birthday
生日
He was born on December 31st and spoke about it on January 1st.
他是十二月31号出生的，他在一月1号讲的话。

Symbol
符号
Decimal point – 5.9
小数点-5.9

Fraction
分数
5832/17496 = 1/3

5-digit Number
五位数
Using an easy equation: 3(x+100000) = 10x+1 we find out that the number is 42857.
用一个容易的等式：3(x+100000) = 10x+1 我们可以算出42857.

Cipher
阿拉伯数字
The possible 2 last numerals are as follows: 03, 05, 07, 09, 14, 16, 18, 25, 27, 29 and 30. At least two multiples less than 100 (this condition is already accomplished), which consist of even and odd numeral (respecting all other conditions) are for 03, 07, 09 and 18 as follows:
03 – 27, 63, 69, 81
07 – 49, 63
09 – 27, 63, 81
18 – 36, 72, 90
后面两个数字的可能性有以下这些：03，05，07，09，14，16，18，25，27，29和30 。
最少有两个它们的倍数是少于100的（这个条件已经符合了），而且含有奇数和偶数（符合其他条件的）的有以下的这些：
03 – 27, 63, 69, 81
07 – 49, 63
09 – 27, 63, 81
18 – 36, 72, 90
There are 5 numbers that can be made of these pairs of numerals to create the cipher: 692703, 816903, 496307, 816309 and 903618. (If we assume, that also in the number 903618 is accomplished the requirement to alternate even and odd numbers, despite the opposite order.)
这样有5个数字是从这些数里面创造出来的：692703, 816903, 496307, 816309 和 903618 。（903618也是符合奇偶数间隔搭配这个条件的，只是先奇后偶。）

The Number Puzzle
数谜
This one is not verified – I used 2 numbers 39543 and 89398. And this is what the grid looks like:
这个是还没有查证的-我用了两个数字39543和89398。方格阵看起来就是这样：
[image: Attached Image]

So the total score is 147.
所以总数是147.

Master Mind
高手思维
6741

1996
[image: Attached Image]
I used [brackets] as the symbol for root.
我用[括号]表示开方符号。

100
100 = 177-77 = (7+7)x(7+(1:7))
I do not know other solutions.
我不知道其他的答案了。

Equation
等式
Move the numeral 2 half a line up to achieve 101 - 102 = 1.
把数字2移到乘方的地方就可以让等式成立了。

Number Sequences
数字顺序
http://brainden.com/crossing-river.htm

River Crossing Puzzles
纵横字谜
She-goat, Wolf and Cabbage
公羊，狼和椰菜
Take the she-goat to the other side. Go back, take cabbage, and unload it on the other side where you load the she-goat, go back and unload it. Take the wolf to the other side where you unload it. Go back for the she-goat. That's it.
先把羊带到河对岸。回来，把椰菜带过河，放下椰菜，把羊带上船，到了对岸，放下羊，把狼带过河，放下狼，再回到对岸，把羊最后带过河。

Cannibals and Missionaries
食人者和传道者
1 cannibal and 1 missionary there, missionary back. 2 cannibals there, 1 cannibal back. 2 missionaries there, 1 missionary and 1 cannibal back. 2 missionaries there, 1 cannibal back. This one cannibal takes the remaining cannibals to the other side.
一个食人者和一个传道者过河，传道者回来。两个食人者过河，一个食人者回来。两个传道者过河，一个传道者和一个食人者回来。两个传道者过河，一个食人者回来。最后这个食人者把剩下的食人者带过河。

Family
家庭
First go the children. Son comes back, and father goes on the other side to his daughter. Then daughter goes back to pick her brother up and they both go to the other side to the father. Son comes back to give the boat to mother who goes to the other side (to father and daughter). Daughter jumps in and goes to her brother so they can both return to their parents. Daughter gets off and son gives the boat back on the first side of the river to the fisherman, who goes on the other side. There the daughter jumps in and goes to her brother to take him back to parents where she (where the whole family meets at last) returns the boat to the fisherman. The boat crossed the river 13 times.
首先孩子们先过。儿子回来，然后父亲过河会合他女儿。然后女儿回去接她的哥哥一起过河会合父亲。儿子回去把船给他妈妈，妈妈过河会合父亲和女儿。然后女儿可以跳下船，去把哥哥接过河。女儿跳上岸，儿子把船撑回去，上岸，然后渔夫把船撑过河。女儿跳上船，回去把她哥哥接过来会合父母亲，然后把船还给渔夫。船一共过了13次河。

Humans and Monkeys
人和猴子
The three columns represent the left bank, the boat, and the right bank respectively. The < or > indicates the direction of motion of the boat. 
H代表人，M代表大猴子，m代表小猴子，<号或者>号代表船移动的方向。三个纵列代表河的左岸，船，河的右岸。
HHHMmm . .
HHHm Mm> .
HHHm <M m
HHH Mm> m
HHH <M mm
HM HH> mm
HM <Hm Hm
Hm HM> Hm
Hm <Hm HM
mm HH> HM
mm <M HHH
m Mm> HHH
m <M HHHm
. Mm> HHHm
. . HHHMmm

Dark Phobia
黑暗恐惧症
First mom and dad – 2 minutes. Dad comes back – 3 minutes, both children go to mom – 8 minutes. Mom comes to dad – 10 minutes and they both get to their children – 12 minutes.
首先妈妈和爸爸-两分钟。爸爸回来-3分钟，两个小孩去妈妈那边-8分钟。妈妈回来-10分钟，然后一起过小孩那边-12分钟。

River Crossing Game
过河游戏
1. Police Officer, Thief	警察，小偷
2. Police Officer		警察
3. Police Officer, Boy 1	警察，男孩1
4. Police Officer, Thief	警察，小偷
5. Dad, Boy 2			父亲，男孩2
6. Dad				父亲
7. Dad, Mom			父亲，母亲
8. Mom			母亲
9. Police Officer, Thief	警察，小偷
10. Dad			父亲
11. Mom, Dad			母亲，父亲
12. Mom			母亲
13. Mom, Girl 1		母亲，女孩1
14. Police Officer, Thief	警察，小偷
15. Police Officer, Girl 2	警察，女孩2
16. Police Officer		警察
17. Police Officer, Thief	警察，小偷


Frog Leap Game
青蛙跳跳游戏
MMM_FFF
MM_MFFF
MMFM_FF
MMFMF_F
MMF_FMF
M_FMFMF
_MFMFMF
FM_MFMF
FMFM_MF
FMFMFM_
FMFMF_M
FMF_FMM
F_FMFMM
FF_MFMM
FFFM_MM
FFF_MMM


Subtraction
减算
Once. After you subtract 2 from 32, you subtract 2 from 30, from 28, and so on.
一次．从32减去2以后，你从30减2，从28减2，如此类推。

The Barbershop Puzzle
发廊题
The traveler goes to have his hair cut at the barbershop on East Street. He figures that since there are only two barbershops in town the East Street barber must have his hair cut by the West Street barber and vice versa. So if the traveler wants to look as good as the West Street barber (the one with the good haircut), he'd better go to the man who cuts the West Street barber's hair - the East Street barber. 
By the way, the reason the West Street barbershop is so clean and neat is that it seldom gets customers.
那个旅行者去东街的发廊。他知道这个小镇只有两间发廊，所以东街的发型师一定要去西街发廊剪他的头发，相反也是一样。所以如果旅行者想他的头发剪得象西街发型师的头发那样好的话，就要去帮他剪头发的那个发型师那里了-就是东街发廊。

Murder in the Desert
沙漠的谋杀案
Well, this is a hard one. In my opinion, there is no clear solution. Each point of view is correct, somehow. Most of the people would say that A is the murderer. Solicitor of B would stress 2 things:
1. to take away poisoned water from someone does not mean killing him,
2. B just made C live longer, even if he did not mean to (the poison might have killed C earlier).
However, solicitor of A could present the following argument:
"How can be A be punished for committing a murder by poisoning C, if C did not swallow a single drop of poison."
Raymond M. Smullyan pointed out the moral, legal and logical point of view. It is morally clear that both A and B are guilty of homicide attempt. Legally, 2 different courts could judge them in 2 different ways. And logic gives us the opportunity to write a whole book on this topic.
这是一个很难回答的问题。我的意见，是没有一个清晰地答案。每一点都是正确的。多数人会说A是凶手。B的辩护律师会强调两点：
1. 从某人身上拿走有毒的水不代表杀他。
2. B只是让C活得久些，虽然这不是他的本意（有毒的水让C死得更快）。
但是，A的辩护律师会列出以下的论点：
“如果C没有喝一滴有毒的水，你怎么能判他谋杀罪成立呢。”
雷曼。苏牧言指出了道德上，法律上和推理上的观点。道德上很清楚的知道A和B都是有蓄意谋杀罪的。法律上，两个不同的法庭可以判得完全不同。而推理上给了我们一个很好的机会去写成一本书。

The Elder Twin
年长的双胞胎
At the time she went into labor, the mother of the twins was travelling by boat. The older twin, Terry, was born first early on March 1st. The boat then crossed the International Date line (or any time zone line) and Kerry, the younger twin, was born on February the 28th. In a leap year the younger twin celebrates her birthday two days before her older brother. 
当她生产的时候，这位双胞胎的妈妈正在船上。泰利，双胞胎里年长的一个，在3月1号先出生。这条船经过了国际子午线（或者任何一条时区线），而凯莉，双胞胎里年幼的一个，就在2月28号出生。在闰年的时候，她就比她的哥哥早两天生日了。
This puzzle was submitted to Games Magazine's 'How Come' competition in 1992 by Judy Dean. It won.
这个谜题是朱迪。迪恩在1992年游戏杂志上赢了“怎么会”这个比赛的题目。
http://brainden.com/new.htm

New Brain Teasers
新的脑筋急转弯题
Letter Bourse
字母交换所
[image: Attached Image]

Domino Hunt
多米诺骨牌阵
[image: Attached Image]

Crisscross
十字号
[image: Attached Image]

Neisse
尼斯湖怪物
[image: Attached Image]


Hexagons
六角形
[image: Attached Image]

http://brainden.com/geometry-puzzles.htm

Geometry Puzzles
几何题
 
[image: Attached Image]
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Trust me - it is possible. I have done it. 
相信我-这是可能的。我做出过。

[image: Attached Image] 


It looks like a triangle, because a thick line was used. Hypotenuse of the composite triangle is actually not a straight line – it is made of two lines. Forth cusps are where the arrows point (c9, l6).
它看起来像一个三角形，因为用了粗线条。直角三角形的斜边不是直线-是两条线组成的。箭头所指的就是。
[image: Attached Image]

The 64 = 65 paradox arises from the fact that the edges of the four pieces, which lie along the diagonal of the formed rectangle, do not coincide exactly in direction. This diagonal is not a straight segment line but a small lozenge (diamond-shaped figure), whose acute angle is
这个64=65的几何谬论源自于四块图形的边，它们拼起来的长方形的对角线不是直线的，是一个菱形（钻石形），它的角度是:
arctan 2/3 - arctan 3/8 = arctan 1/46
which is less than 1 degree 15' . Only a very precise drawing can enable us to distinguish such a small angle. Using analytic geometry or trigonometry, we can easily prove that the area of the "hidden" lozenge is equal to that of a small square of the chessboard.
这是小于1度15分。要非常精确的画图才能让我们区别这么小的角度。运用分析几何或者三角法，我们很容易可以证明“藏起来”的菱形就是那个棋盘上的小方格。

[image: Attached Image]
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Matchstick Puzzles
火柴题 

XI - V = IV (more solutions更多的答案) ... X - VI = IV or XI - V = VI or XI - VI = V


[image: Attached Image]
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Shovel扫帚
[image: Attached Image] 


House房子
1. eleven squares十一个正方形
[image: Attached Image]

2. fifteen squares十五个正方形
[image: Attached Image] 


Scales天平
[image: Attached Image] 


Fish鱼
[image: Attached Image] 


Rabbit Hutch兔子窝
[image: Attached Image]


Cow奶牛
[image: Attached Image] 


Key钥匙
1. three squares三个正方形
[image: Attached Image]

2. two rectangles两个长方形
[image: Attached Image]

3. two rectangles两个长方形
[image: Attached Image]
 

Touch
电筒
[image: Attached Image]
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Best Puzzles
最好的谜题
Hats on a Death Row
死亡之帽
First guy is a coin toss - let's wish him good luck.
His job is to establish the parity of black hats visible to him.
He says "Black" if he sees an odd number of black hats; "Red" otherwise.
By paying attention to what has been said, each prisoner will know his hat's color.
第一个人是要碰碰运气了-让我们祝他好运。
他的任务是建立他能看到的黑帽子的奇偶校验。
如果他看到的奇数的黑帽，他就说黑帽，否则，就说“红色”。
那么，每一个只要仔细听他说，就可以知道自己帽子的颜色。
Example:
Second to speak hears "Black" and sees an even number of black hats. 
He knows his hat is black [odd changed to even - must be his is black] and says "black".
Third guy has heard "black" and "black" and sees an even number of black hats.
He knows his hat is red [even stayed even - his hat can't be black] and says "red".
And so on, to the front of the line.
举例：
第二个说的人听到“黑色”和看到偶数顶黑帽子。
他知道他的帽子是黑的【奇数变成偶数-那他的就一定是黑手的】，然后他说“黑色”。
第三个人听到“黑色”和“黑色”的回答，又看到偶数顶黑帽子。这样他知道他的帽子是红色的【偶数还是偶数-他的帽子不可能是黑色的】，所以他说“红色”。
以此类推，一直到站在最前面的一个。
General algorithm:
The first time you hear "black", say to yourself "odd".
Each time your hear "black" after that, change the parity: "even", "odd", ... etc.
When it's your turn, if the black hats you see match the running parity, you're Red; Black otherwise.
Call out your color.
总的来说：
当你第一次听到“黑色”，你就对自己说 “奇数”。
以后每一次听到“黑色”，就对应地转换地念“偶数”，“奇数”，。。。等等。
当轮到你的时候，如果你看到的黑帽子和你念的奇偶数相同，你戴的是红帽子，否则就是黑帽子。
说出你的颜色。

Weighing in a Harder Way
比较难的称重方法
You can distinguish among 3**N cases in N weighings. 
There are 54 possible cases in this puzzle [one of 27 coins is heavy or light]. 
So three weighings [27 cases] won't do it, but four [81 cases] can.
Use groups of nine coins: A, B, C.
这里有54个可能（27个钱币里有一个重些或者轻些）。
所以三次是做不到的，但是称四次就可以了。
你可以把钱币分成3组（9个一组）：A，B，C。

[1] A = B: C has a heavy or light coin [18 cases]
[2] A < B: A has a light coin or B has a heavy coin [18 cases]
[3] A > B: A has a heavy coin or B has a light coin [18 cases]
【1】A=B：C组含有那个钱币【18种可能】
【2】A<B：A组里有较轻的钱币或者B组里有较重的钱币【18种可能】
【3】A>B：A组里有较重的钱币或者B组里有较轻的钱币【18种可能】

[1] Split C into groups of three coins: C1, C2, C3 and weigh C1 vs. C2.

C1 = C2: C3 has a heavy or light coin [6 cases] Name the C3 coins c3a, c3b, c3c.
c3a = c3b: if c3a </> c3c, then c3c is the heavy / light coin.
c3a < c3b: if c3a </= c3c, then c3a is light / c3b is heavy.
c3a > c3b: if c3a =/> c3c, then c3b is light / c3a is heavy. 

C1 < C2: C1 has a light coin or C2 has a heavy coin [6 cases]
C1 = C3: [C2>C1=C3] C2 has a heavy coin. 

【1】把C组分成三组：C1,C2,C3 然后称C1和C2
C1 = C2: C3里有那个钱币【6种可能】，把C3分成c3a, c3b, c3c.
c3a = c3b: 如果 c3a </> c3c, 那么 c3c 就是那个重些 / 轻些的钱币.
c3a < c3b: 如果c3a </= c3c, 那么c3a  就是那个轻些的钱币/ c3b就是那个重些的钱币。
c3a > c3b: 如果c3a =/> c3c, 那么c3b 就是那个轻些的钱币 / c3a 就是那个重些的钱币 

C1 < C2: C1 里有轻些的钱币或者 C2 里有重些的钱币 [6种可能]
C1 = C3: [C2>C1=C3] C2 里有重些的钱币。 

Procedure 1:
Name the coins c2a, c2b, c2c.
c2a = c2b: c2c is heavy
c2a < c2b: c2b is heavy
c2a > c2b: c2a is heavy

步骤 1:
把钱币命名为 c2a, c2b, c2c.
c2a = c2b: c2c 是重些的钱币
c2a < c2b: c2b是重些的钱币
c2a > c2b: c2a是重些的钱币

C1 < C3: [C2>C1<C3] C1 has a light coin. Apply Procedure 1 to determine the light coin.
C1 > C3: [C3>C1>C2] Impossible.

C1 > C2: C1 has a heavy coin or C2 has a light coin [6 cases]
C1 = C3: [C1=C3>C2] C2 has a light coin. Apply Procedure 1 to determine the light coin.
C1 < C3: [C2<C1<C3] C1 Impossible.
C1 > C3: [C2<C1>C3] C1 has a heavy coin. Apply Procedure 1 to determine the heavy coin.

C1 < C3: [C2>C1<C3] C1 里有轻些的钱币. 用步骤 1 去决定哪个是轻些的钱币.
C1 > C3: [C3>C1>C2] 不可能.

C1 > C2: C1 里有重些的钱币 或者 C2 里有轻些的钱币 [六种可能]
C1 = C3: [C1=C3>C2] C2 里有轻些的钱币. 用步骤 1 去决定哪个是轻些的钱币。
C1 < C3: [C2<C1<C3] C1 不可能.
C1 > C3: [C2<C1>C3] C1里有重些的钱币. 用步骤 1 去决定哪个是重些的钱币。

[2] Weigh A vs. C

A = C: [A=C<B] B has a heavy coin [9 cases]
Procedure 2:
Split the B coins into groups of three: B1, B2, B3 
B1 = B2: B3 has a heavy coin. Apply procedure 1 to determine which.
B1 < B2: B2 has a heavy coin. Apply procedure 1 to determine which.
B1 > B2: B1 has a heavy coin. Apply procedure 1 to determine which.
A < C: [B>A<C] A has a light coin [9 cases] Apply Procedure 2 to determine which.
A > C: [B>A>C] Impossible

[2] 称量 A 和 C

A = C: [A=C<B] B 里有一个重些的钱币 [9 种可能]
步骤 2:
把B组钱币分成三组: B1, B2, B3 
B1 = B2: B3 有那个重一些的钱币. 用步骤1去决定是哪一个.
B1 < B2: B2有那个重一些的钱币. 用步骤1去决定是哪一个.
B1 > B2: B1有那个重一些的钱币. 用步骤1去决定是哪一个.
A < C: [B>A<C] A 里有那个轻些的钱币 [9 种可能] 用步骤1去决定是哪一个。
A > C: [B>A>C] 不可能

[3] Weigh A vs. C

A = C: [A=C>B] B has a heavy coin [9 cases] Apply Procedure 2 to determine which.
A < C: [B<A<C] Impossible
A > C: [B<A>C] A has a heavy coin [9 cases] Apply Procedure 2 to determine which.

[3] 称量 A 和 C

A = C: [A=C>B] B里有重些的那个钱币 [9 种可能] 用步骤2去决定是哪一个。
A < C: [B<A<C] 不可能。
A > C: [B<A>C] A 里有重些的钱币 [9种可能] 用步骤2去决定是哪一个。

The Liar, The Truth Teller and The Random Answerer
说谎者，老实人和随机回答的人
There are 6 possible states for the order of the men: TRL, TLR, LTR, LRT, RTL, RLT 
这里有6种排列的情况（T代表老实人，R代表随机回答的人，L代表说谎者）：TRL, TLR, LTR, LRT, RTL, RLT
There are 8 possible combinations of answers for questions: TTT, TTL, TLT, TLL, LTT, LTL, LLT, LLL.
有8种可能组合的答案

Theoretically it's possible if you could figure out a way to get any of the 8 combinations of answers assigned to the states, but with the unreliability of Random's answers, I thought it was impossible. There is always a possibility in any solution where Random will exactly mirror T or L for answers. He could always lie or always tell the truth and you can never tell when he is lying or telling the truth. This being given, I thought you can NEVER separate 6 distinct answers to apply to the 6 states, and therefore can never be sure who is who. 
理论上，你是可以找出8种组合答案对应的排列情况，但是，因为随机回答的人的答案不可靠，我觉得这是不可能的。在任何一个答案里，随机回答的人总是可能说正确或者错误的话。你不可能知道他什么时候说真话，什么时候说假话。所以，你不可以分出哪组答案对应哪个排列，所以永远都不知道谁是谁。
After a minute though, I saw through my own error in logic. I was always dealing with questions where T and L would give the same answer regardless of the order of the men. I saw that if you can get T and L to give a Yes/NO answer, then you can figure out where R's worthless answers are. The only way I saw to do this is to ask about the order of the men themselves. 
一分钟后，我就看出了我自己推理上的问题。我总是去想不管排列的情况怎样，老实人和说谎者说出的答案是一样的时候。我看到了如果你可以让老实人和说谎者给出一个是/不是的答案，那么你就可以找出随机回答人的无用的答案了。唯一一个办法是问他们自己排列的情况。
So: 
Ask #1 if L is standing on R's right arm (our left if they are facing us). 
The answer gives you a split in the order they are standing:
If YES, then it has to be T telling the truth, L telling a lie, or one of R's worthless answers, so: TLR, LTR, or RTL, RLT.
If NO, then it has to be T telling the truth, L telling a lie, or R and his worthless answers, so: TRL, LRT, or RTL, RLT.
所以：
问1：说谎者是不是站在随机者的右手边（如果他们对着我们的话，就是左手边）。
那么答案就可以告诉你排列的情况分类：
如果答案“是”，那么就是老实人说的真话，说谎者说的假话，或者随机回答的人没有意义的答案，所以：TLR, LTR 或者 RTL, RLT。
如果答案“不是”，那么就是老实人说的真话，说谎者说的假话，或者随机回答的人没有意义的答案，所以：TRL, LRT 或者 RTL, RLT。

Now we know, based on the answer to #1 where to avoid R's worthless answers. We now ask T or L "Is T in the lineup?" If answer 1 was Yes, we ask person 2, if it was no we ask person 3. 
现在我们知道，通过1可以避免随即回答的人无意义的答案。我们现在可以问老实人或者说谎者“老实人是不是排头？”如果答案“是”，我们问第二个人，如果答案“不是”，我们问第三个人。
The answer now will give us some more info. If it's Yes, it's T answering the truth, if it's no, it's L answering a lie. So based on who we asked, we now know:
现在的答案可以告诉我们更多的信息。如果答案“是”，那么就是老实人在说真话，如果答案是“不是”，就是说谎者在说谎。所以基于我们问的是谁，我们现在知道：
Yes, Yes: Has to be LTR, or RTL
Yes, No: TLR, RLT
No, Yes: LRT, RLT
No, No: TRL, RTL
是，是：只能是LTR，或者是RTL
是，不是：TLR, RLT
不是，是：LRT, RLT
不是，不是：TRL, RTL
Now any question separating the two possibilities works - just make sure you are avoiding R's worthless answers. 
现在任何可以分开这两种可能的问题都可以问了-只是要注意避免随机回答的人无意义的答案。
For example: 
Yes, Yes - ask #2 if #1 is L. (We know #2 is T and will tell the truth) - Yes = LTR, No = RTL
Yes, No, - ask #2 if #1 is T. ( We know #2 is L and will tell a lie) - Yes = RLT, No = TLR
No, Yes - ask # 3 if #1 is L. (We know #3 is T and will tell the truth) - Yes = LRT, No = RLT
No, No, - ask #3 if #1 is T. (We know #3 is L and will tell a lie) - Yes = RTL, No = TRL 
举个例子：
是，是，- 如果#1是说谎者，问#2。（我们知道#2是老实人，是说真话的）-是=LTR，不是=TLR。
不是，是，- 如果#1是老实人，问#2.（我们知道#2是说谎者，说的是谎话）-是=LRT,不是=RLT。
不是，是，- 如果#1是说谎者，问#3.（我们知道#3是老实人，是说真话的）-是=LRT,不是=RLT.

So we have the order and know who is who.
所以我们就知道排列的顺序和谁是谁了。

Truth in Packaging
包裹里的真理
Remove an item from box 3. 
The item tells you what label to put on box 3.
Move the nails and screws label to the box labeled with the other item, and its label to the remaining box.
从3号盒子里拿一样东西出来。
这样东西告诉你应该在3号盒子上贴什么标签。
把钉子和螺丝的标签移到另外的那个盒子，再把那个盒子的标签移到剩下的那个盒子上。
Example: you remove a nail from box 3. 
Move the label nails from box 1 to box 3.
You can't move the nails and screws label to box 1: that would be a swap, and all three labels must be corrected.
Move it instead to box 2, and the screws label to box 1.
举例：你从3号盒子里拿出了钉子。
那么把1号盒子的钉子标签移到3号。
你不可以把钉子和螺丝的标签移到1号：这样只是1号和3号的互换，但是三个盒子都必须要纠正的。
所以把它移到2号盒子，然后螺丝的标签移到1号盒子。
[box 1] screws
[box 2] nails and screws
[box 3] nails
[1号盒子] 螺丝
[2号盒子] 钉子和螺丝
[3号盒子] 钉子


One Girl - One Boy
Answer: 1/3
答案：1/3
This is a famous question in understanding conditional probability, which simply means that given some information you might be able to get a better estimate. 
这是一条对条件概率理解的问题，简单来说就是在给出的条件下你可能会得到较好的预测和估算。
The following are possible combinations of two children that form a sample space in any earthly family:
以下是对于任何一个有两个小孩的家庭的组合可能：
Girl – Girl	女孩-女孩
Girl – Boy	女孩-男孩
Boy – Girl	男孩-女孩
Boy – Boy	男孩-男孩

Since we know one of the children is a girl, we will drop the Boy-Boy possibility from the sample space.
This leaves only three possibilities, one of which is two girls. Hence the probability is 1/3
因为我们已经知道其中有一个女孩，我们就可以去掉男孩-男孩的可能性。
那么就剩下三种可能性，其中一个是两个女孩。这样可能性就是1/3。

Whatchya Gonna Do (2 Goats and a Car)
你要做什么（两只羊和一辆车）
You should switch. Contrary to what may seem intuitive, switching actually doubles your chances of winning the car.
你应该改开另外一扇门。跟直觉相反，改开另一扇门事实上可以让你赢的机会加倍。
This problem is just a re-wording of what is known as the Monty Hall Problem. The key to understanding it is that the host knows the locations of the car and goats. His knowledge changes his actions and thus affects the odds.
Here is a breakdown of all the possible scenarios that you face and why you should switch:
这个问题就是蒙提霍尔问题。理解的关键在于主持人知道车和羊的位置。这一点影响到他的行为还有公平性。
以下是所有你会遇到的情况和解释你为什么要改开另一扇门。
· Door #2 has goat B (probability 1:3) - MB shows goat A behind Door #1 (1:1) - the car is behind Door #3 (1:1) - switching wins the car - total chances (1:3 x 1:1 x 1:1 = 1:3)
· #2门有羊B（概率是1：3）- 主持人开了#1门有羊A（1：1） - 车在#3门后（1：1）-改开另外一扇门就赢了车-全部机会(1:3 x 1:1 x 1:1 = 1:3)

· Door #2 has the car (probability 1:3) - MB shows goat A behind Door #1 (1:2) - goat B is behind Door #3 (1:1) - not switching wins the car - total chances (1:3 x 1:2 x 1:1 = 1:6)
· #2门有车（概率是1：3）- 主持人开了#1门有羊A（1：1） - 羊B在#3门后（1：1）-不要改开另外一扇门就赢了车-全部机会(1:3 x 1:2 x 1:1 = 1:6)
· Door #2 has the car (probability 1:3) - MB shows goat B behind Door #1 (1:2) - goat A is behind Door #3 (1:1) - not switching wins the car - total chances (1:3 x 1:2 x 1:1 = 1:6)
· #2门有车（概率是1：3）- 主持人开了#1门有羊B（1：2） - 羊A在#3门后（1：1）-不要改开另外一扇门就赢了车-全部机会(1:3 x 1:2 x 1:1 = 1:6)

There are (1:3 + 1:3 = 2:3) chances that switching will get you the car, and only (1:6 + 1:6 = 1:3) chances you would get the car by not switching. You should switch.
所以如果你改开另一扇门有(1:3 + 1:3 = 2:3)的机会赢了车，如果你坚持不改，只有(1:6 + 1:6 = 1:3)的机会会赢。

Sequence Puzzle
顺序题
3 1 2 2 1 1
1 3 1 1 2 2 2 1
Line 1 is "Two ones" (2 1)
第一行是“两个一”（2 1）
Line 2 then becomes "One two, and one one" (1 2 1 1)
第二行是“一个二，和一个一”（1 2 1 1）
Line 3 therefore is "One one, one two and two ones" (1 1 1 2 2 1)
因此第三行是“一个一，一个二和两个一”（1 1 1 2 2 1）
Line 4 is "Three ones, two twos and one one" (3 1 2 2 1 1)
第一行是“三个一，两个二和一个一”（3 1 2 2 1 1）
Line 5 is "One three, one one, two twos and two ones" (1 3 1 1 2 2 1 1) 
第五行是“一个三，一个一，两个二和两个一”（1 3 1 1 2 2 1 1）

How Did It Happen?
这是怎样发生的呢？
The Obvious Answer was the North Pole. But also infinite answers:
For example, any point on the circle (1 + 1/2pi) miles from the South Pole.
After going South 1 mile, you're (1/2pi) miles from the Pole, 
which allows you to run West 1 mile [1 lap of a 1-mile circumference circle] 
and be able to go a mile north to the starting point.
There is an infinite number of starting distances: 
1 + 1/2Npi miles north of the South Pole where N is any positive integer.
N is then the number of circular laps in your westerly mile.
e.g. N=5280 - you'd run 5280 laps around a 1-foot circumference circle.
最明显的答案就是北极点。但是有无数的答案：
举例说，任何离南极点(1 + 1/2pi)英里的点都可以。
向南跑1英里后，你就离南极点1/2pi，
你向西跑1英里【沿一英里的圆周跑一圈】，然后再向北跑一英里就回到原来的点了。
这就有无数个答案。起点为：
离南极点1+1/2Npi英里的地方，N是正整数。
N代表你向西跑的圈数。
比如说，N=5280 – 你向西跑了5280个1英尺的圆周。

Help! A Remainder is Chasing Me
帮忙！余数追我
2519

Old Funny One
一个古老的趣话
Actually, the child is brand new in the womb, since .75 of a year is about 9 months. So the father is...well, you know- pretty close by.
事实上，这个小孩还在妈妈的肚子里，因为0.75年大约等于9个月。所以爸爸是在。。。-你知道啦-很近。
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